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TNPSC ORIGINAL QUESTION - 2021
TNPSC GROUP I PRELIMINARY EXAM 03.01.2021

If a simple pendulum with the mass of the bob as ‘M’ has a time
period “T” then in the same pendulum another bob with mass 2M
replaces the original bob. Now time period is (it may be assumed
that the string attached to the bob has no mass)

a.2T b. TE c. T d. %T e. Answer not known

M eaep Blews Gameni @b Sefeugeder (simple pendulum) siemevey
Goryb T  eter 2 gitengl. a1 oiHsalarFlar  oaFB@ean(H
OTBBUILGAIST  SiFeT Bos 2M 915 wipdBg. SBOUTH DG
SIM6VaCHIBID  eTIITE @HEHGHW? (2MFBG6WIML.  HTRIGD  DewLp
BBUIBBSTS  BHSHEVMLD)

a. 2T b. TE c.T d. % e. alewL Gxfwalsvenev

Silicon is one of the best-known semi conducting material. As its
temperature more, it becomes a better conductor. But the
temperature at which the silicon permanently damages is

a. 100°C b. 150°C c. 200°C

d. 250°C e. Answer not known

Folsamer, dnbhsd PWlLLL  GOBBLHHH6TD Q@IBTESHID.  DL&H6
Geauliuplensy SiHEMNHmBuled SiH FBhHH SLSIHUTHBSH. DLETEO  (H
Geuliupleneouled FedsbsTer HIFHSHIIOTS OlFWeIIDLILSH

a. 100°C b. 150°C c. 200°C

d. 250°C e. alewL GxfMwalsvenev

A rock containing the fluorescing calcite is illuminated by ultraviolet
light. Then, the colour of the rock seems to be
a. Violet b. Blue c. Green
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d. Red e. Answer not known

6l 2 10(pD  STeVMFL ML S BT (h LITeNB LB2EIHT  eerflulmed
ealTalsslILBaHBH. DICUTH, uTenpuleT BiBLTsdh CHTaBIeIS

a. oG b. meud C. UFMF

d. Feuliy e. alewL Gxfwalsvenev

Raman effect is scattering by

a. Pure Solids b. Pure Liquids c. Pure Gases
d. Impure Gases e. Answer not known

B moeT allenena)] 6I6leMd 66NFSFHMED

a. gruienwmer FHLLoumml sefled Hla @elFdHmed

b. gruienwiner FHraumiseied Bawd eflFdEHmed

C. SHTUIEHLOWITET aUTU|SHere0 HIBHPD elFHHBmed

d. gruiiemwowBp amusseied Bapn geflFdsHmped

e. alewL O Mwaledenso

On rear wheel drive cars, with the engine in front it is a common
practice to weight down the trunk in order to increase safety, when

driving on
a. Icy roads b. Muddy roads c. Hill roads
d. Plane road e. Answer not known

(WpeUSS  BUbBSHTD st el  FhHI 0 Quidbd  FHMTSH660
UTSHISTUIBSTS HeWilh FFend GHMBLIUG 61hFH LGHSHUTed gl HaudBHTs
a. UebaL 1y FTen60H6 b. GammiFgTencvBHeN

C. LDEMGVEFFTENGVHGT d. gFwgen FTewev®6I

e. alemL OFHMwalsvensv

Water drop in space is spherical because in the absence/reduced
effects of gravity the forces governing the objects are all the same
and therefore the drop.

a. Attains a shape having the least amount of surface area.

b. Attains a shape having the maximum amount of surface area

c. Attains a shape having the least volume

d. Attains a shape having the maximum volume

e. Answer not known

allewiGeuefufled FiTlIy eleng G6e060THHET60 /  GHOBaUTS EHLILISHETT6V,
QuTpeTSaTe  LOHTH  DMISHEH  lNFHEHD  FIOWTE  B(HHEMBSI.
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Bzt  alewibeuaiulled  BTdHgemwmergd  Osmemeaugeud  GQUBIFBSI.
Sleeurm Gsmem eugeud eIBLILHEITED, BHiTdhHler

a. Nss Gmseutel Gumuyliy CHTENIL algaHmS GBHBS

b. s oiFHswrer CoBurliy OBTEIL algalhHad GBIHBEI

C. Wasdh GHMBEUTET LI(HLOT OBHT6RIL  6lQaIHmEH GRH M.

d. s oiFHswome LEHDOE BT algaIHMSE BB

e. alewL OFMwealedenev

ASSISTANT AGRICULTURAL OFFICER (17.04.2021)

Physics

1. The wettability of a surface by a liquid depends primarily on
a. viscosity
b. surface tension
c. density
d. angle of contact between the surface and the liquid
e. Answer not known
@b UTlenU @(h HIUSHSHTe0 FJLOTHGD D66 (LPSHTenLOWITS FThHIHIeTend
LIT&Hl6mev
ugtopeleng
SILT5H)
ulysGL Hraus B S G o siten GaiT@asmmeuid
alewL G flwalsvensv

o a0 oo

2. TUCAA stands for
a. Indian University Centre for Astronomy and Astrology
b. International University Centre for Astronomy and Astrophysics
c. Italian University Centre for Astronomy and Astrophysics
d. Inter -University Centre for Astronomy and Astrophysics
e. Answer not known
IUCAA- aier aifleurédsid
a. Indian University Centre for Astronomy and Astrology
b. International University Centre for Astronomy and Astrophysics
c. Italian University Centre for Astronomy and Astrophysics
d. Inter -University Centre for Astronomy and Astrophysics
e. allewL  Oxflwealedensv
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Assertion (A) : Since the moon is smaller than the earth, it has
1/6 of the gravitational pull of the earth

Reason (R) : So the man weighs 16 times less on the moon
than the earth.

a. (A) is True, (R) is False

b. Both (A) and (R) are True and (R) is the correct explanation of (A)

c. (A) is False, (R) is True

d. Both (A) and (R) are True but (R) is not the correct explanation of

(A)

e. Answer not known

amml (A): ghager yalewwal HAflwgl  eI@TUSHT0  DIHe  FTLIL
géd yaluler miriy Fohghuled 1/6 wLmig w1l GGLW.

smyerd (R): aeiBeu  &NHTHeT FhaHgeled Lalemweal 16  OLHIE

6Tl6ML, (GHEMMBEUTSH G (HLILITTEHEIT.

a. (A) gfl gemed (R) seum

b. (A) wpp (R) Syewid #f syemed (R) aamg (A)-albg afuimer
allend LD

c. (A sap gemed (R) &l

d. (A) wppib (R) @gewiG af egpemed (R) eteiig (A)-aliBg Fflwimer
a6 &BLDELED

e. alewL Ggfwealsdenew

A rod has a mass of 100 g and length 1 m. Its radius of gyration
perpendicular to its length and passing through its centre of gravity is
a.0.2886 m b. 2.886 m c. 0.02886 m d. 0.2688 m

e. Answer not known

100 & Ppeopwd 1 B BHemupld o ewLuwl Hewih @MleT BHTHHBG
CFmIGHHTHD RO WD aPursa|ld Fesld SFmF CUTHSHSH
SO SiTID

a. 0.2886 15 b. 2.886 15 c. 0.02886 15 d. 0.2688 1

e. alewL G fwalsdenev

Which of the following is incorrectly paired?

a. 1 astronomical unit - 1.49 x 101" m

b. 1 light year - 9.46 x 101> m

c.1fermi-1015m

d. 1 Atomic mass unit - 6.17 x 1077 kg

e. Answer not known

SLDHHENILUBMIET 615 SHUBTs CUTHSHSUILIL (HeiTerngi?
a. 1 aumeilwed oev@ 1.49 x 101118
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b. 1 geflwrewi 1.49 x 101 18
c.1Qumd -10158

d. 1 sigmpes owog — 6.17 1027 &&
e. alemL OFflwalevensv

AGRICULTURE & HORTICULTURE
(18.04.2021)

The colour of light that travels through glass with minimum speed is

a. Violet b. Blue c. Red

d. Green e. Answer not known

aluled eh®, MM HewiewiTy UfwTed GmBhd CausddHled GlFsvenId?

a. g b. meud c. Faliy

d. usems e. alewL Gsfualsbensy

Assertion : The hardboiled egg and raw egg can be
distinguished on the basis of spinning of both

Reason : The moment of inertia of hardboiled egg is more as

compared to raw egg.

a. Both Assertion and Reason are true and Reason is the correct
explanation of the Assertion

b. Both Assertion and Reason are true and Reason are true but the
Reason is not correct explanation of the Assertion

c. Assertion is true but the Reason is false

d. Assertion is false but the Reason is true

e. Answer not known

&Bm:  Fger, GCous meaudhs (WPLewL LOBMID  epeL  (PLeDL  ET6ITenL WD

FLOBBIOISHT DigliLienL_ufled GeumILIBEHHEVTLD.
sMgeid:  Hlger, Gousd emeudHdH (PLedLUlT  FLHFHIN  SHHLUSHMBET 6o
Wl ewLulemenr ol SIFH&HID

BBl LOB@ID STJewd i, STIewid SnBPiBaTer gFilwmer allendasid

MWl BpId STyenid Ffl, gmmpiBsTer Fflwmer allendsioe0e0

MBI Ffl LeTe0 HMFewID Hauml

BB HUBI HLENTEL STl &l

alewL G flualsvensv

a0 oo
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AGRICULTURE & HORTICULTURE (18.04.2021)

1. The colour of light that travels through glass with minimum speed is

a. Violet b. Blue c. Red d. Green e. Answer not known
ellulled eh®, MHIBID SHewiewimy aPWITS GoBhHS CaussHdHled GFe0aID?
a. oG b. meud c. daly d. uFems e alwL GFflwaisvensv

2. Assertion : The hardboiled egg and raw egg can be distinguished on
the basis of spinning of both
Reason : The moment of inertia of hardboiled egg is more as
compared to raw egg.
a. Both Assertion and Reason are true and Reason is the correct
explanation of the Assertion
b. Both Assertion and Reason are true and Reason are true but the
Reason is not correct explanation of the Assertion
c. Assertion is true but the Reason is false
d. Assertion is false but the Reason is true

e. Answer not known
&Bul:  sger, Gous  MeausHsH (PLeDL  WBMID P60 (WL  BFevrenL UjLD
SLoBmIeuSHeT gl ufled CoumiiBaSHe0mLD.

&Myewid:  Hlgerr, Geousd  emeushd (WLenLuler  FLHHa  HHUUHMET  eLpev
WL Wlewen el SIFH LD

FBm LoBBID Srgewid Ff, STyewid gnppibaTer Fflwmer alendaid

MWl BpID STyenid Ffl, gmmpiBsTer Fflwmer allemdsoe0e0

FBm Ffl LeTed HMFeID Hauml

BBl HUBI DLETT6L HMJeuIld &ifl

alewL G fluailsbensv

a0 o
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